=) DuraFlap

MADE IN THE USA

Directions for Chevy/GMC SUV 2001-2007 REAR
Drill-less Installation

Supplied Hardware: 4-#8Anodized U-Clips; 4-#8 Stainless Steel Black Oxide (SSBO) screws; 4-
SSBO 10x3/4” small washers; 2- flat clips; 2-SS flange nuts;

2-1/4-20 x 1 1/4 SSBO bolts; 2-1/4 x 5/8” SSBO larger washers

Thread locker is recommended on all screws and bolts

These instructions are designed to assist with installation on many different truck models.
The exact location of factory bolts and flat clips may vary for your model.

NOTE: As you progress with the install, check that the mudflap remains square and plumb to the tire.

Step 1:  Un package your new mudflaps. Smooth side is rear side, tapered corner on top is outside top
edge. Ifapplicable, Stainless Steel weights face to the rear of the vehicle.

Step 2: Attach the flat clip to the back (smooth) side of the mudflap, with the hex bolt as shown.

Step 3: Remove factory screws and/or bolts typically located at points (A) and (B).

Step 4: Pull the fender liner (if present) slightly out from behind the fender well so you can replace the factory
U clips with the supplied U Clips with the threaded side to the rear.

Step 5: Align the factory fender hole with the factory liner hole and the U Clip and, temporarily thread the
first #8 screw thru both to re-align the liner hole with the fender well hole. (B)

Step 6: Place the mudflap into the fender well and match up the pre drilled top hole in the flap with the top
factory holes. Insert the washer and bolt thru the mudflap, flare (if applicable) and wheel well lip.
Secure with the washer and screw.

Step 7: Remove the first lower alignment screw (placed in Step 5), position the mudflap over the hole, and
reinsert the screw thru the washer and mudflap, into the bottom U clip. Check for proper alignment to
tire, and tighten both lower and upper bolts.

Step 8: Slip the bottom longer end of the “FLAT CLIP” over the lower edge of the fender liner, (see point C)
and tighten causing the clip to grip the fender liner firmly.

Step 8: Tighten all screws.

NOTE: Recheck monthly and retighten if necessary. Add moisture twice a year with furniture polish or vinyl

or leather protectant.

IF YOU HAVE ANY QUESTIONS OR CONCERNS PLEASE GIVE US A CALL AT 541 245-9148.

FLAT CLIP
GRABBING LINER EDGE

MUDFLAP

Smooth side of
mudflap

CR12 SUV, CR14 SUV




